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We are learning to multiply the answer by the denominator SO THAT we can find the starting amounts.
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We are learning to multiply the answer by the denominator SO THAT we can find the starting amounts.
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Box number 1 is a multiple of 5.
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% of a numberis 11.

Complete the bar model to find the

whole.
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Ellan knows % of a numberis 7.

Use this information and the bar model

above to complete the sentence below:
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David and Elsa are each putting pegs
on a washing line.

& of David’s washing line is 5 pegs.

1 of Elsa’s washing line is 4 pegs.
8

Who has the longest line of pegs?
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Fred has a packet of biscuits.
He has eaten %of the packet.
He has eaten a total of 9 biscuits.
How many biscuits were in the packet

before Fred started eating them?

Annie has a packet of crisps.
She has ecﬂen% of the packet.
She has eaten a total of 12 crisps.
How many crisps were in the packet

before Annie started eating them?
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Fiona is calculating a whole number
from a fraction.

She says,

| know% of a number is
12. To find the whole | can
divide by 10 and multiply
by 6.

Is she correct? Explain how you know.

Malakai is calculating a whole
number from a fraction.

He says,

| know% of a number is

12. To find the whole | can

multiply by 4 because
4 1

Is he correct? Explain how you know.
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Sia and Hugo are each building a
domino trail.

% of Sia’s frail is 12 dominoes.

2 of Hugo’'s trail is 4 dominoes.
9

Who has the longest trail?
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Evie and Chris are working out the missing number in the calculation below.

The answer is 50. | divide The answer is 72. | divide

the whole number by the the whole number by the

denominator and then numerator and the multiply

Evie

multiply by the numerator. by the denominator.

Who is correct? Convince me.
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Nathaniel is calculating a whole
number from a fraction.

He says,

| know % of a number is
12. To find the whole | can
divide by 2 and multiply
by 3.

Is he correct? Explain how you know.

Erin is calculating a whole number
from a fraction.

She says,

8
| know ﬁ of a number is
24. To find the whole | can

multiply 24 by 9.

Is she correct? Explain how you know.
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Arthur and Iris are working out the missing number in the calculation below.

| can use the related fact
16
24

| can use the related fact
2 = i to solve the
24

= i to solve the

3 6
calculation. calculation.

Who is correct? Convince me.
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Hendal Primary School

Belong, Aspire, Achieve.




